
emoce .435 .215 4.113 1 .043

nausnice 3.255 1.353 5.789 1 .016

Constant -4.638 2.026 5.238 1 .022

emoce= 8

nausnice= 1

lineární kombinace= 2.099523

P(sex=Ž|(emoce=8 a náušnice=1))= 0.890857

O(sex=Ž|(emoce=8 a náušnice=1))= 8.162278 8.162278

0 nenosí 1 nosí

0 mužské 10 3 13

1 ženské 2 11 13

12 14 26

P(sex=Ž|náušnice=1))= 0.785714

O(sex=Ž|(náušnice=1))= 3.666667

P(sex=Ž|náušnice=0))= 0.166667

O(sex=Ž|(náušnice=0))= 0.2

OR(sex=Ž|změní-li se náušnice z 1 na 0)18.33333

Step 1
a

Variables in the Equation

B S.E. Wald df Sig.

pohlavi * nausnice Crosstabulation

nausnice

Total

pohlavi

Total



Lower Upper

1.545 1.015 2.354

25.918 1.828 367.392

.010

Variables in the Equation

Exp(B)

95% C.I.for EXP(B)


